s
ITEM DESCRIPTION . A, B, CRANCE NO. JOSLYR NO, OTHER no, :
MFRS. NO. SUB.
A 35' clasn 6 crensoted pine pole . - 4 : L
B 3 1/2" x 4 1/2" x 8' treated crossarm ’ .
C High density wet proceas vonnnpmﬂm}ww: Insulator Lo3 .
) 578 x 57 Forged steel pin w/sq. washer, nut, & i
locknut 83/ ! oy
F 5/8" x 12" machine bolit w/ nut (or length req'd) 88/2 : . X :r\..
F 2_1/4" % 2 1/4" x 3/16" x 11/16" hole sq. washer 6813 ! r
[4 5/8" MF Locknut 35/Z -~ A
H x 1 1/4" x 28" flat Crogsarm Brace 7/28 . . v
J x 4" EZ Petter Drive Log Screw 506754 T .
K 3 x & _1/2" Carriage Bolt w/ Nut 8634 42 | .
L 3 MF Locknut 35/0 .
M Preformed Alum{num Alloy Armor Rods,. size req’d | o '
N | __tie wire #6 strong alum, alloy ‘ ot '
o] Epoxy Insuiator (Extension Link) ! KEAKNEY %3210 2560 EY '
P 35' ¢laas S creosoted pine pole X Ce
R Aluminum double tab Squeeze on Connector ) ' ) .
for ACSR, Aluminum, or Copper-size req'd ! KEARNEY SERIES "8I~ X .
S 6" Suspensfon_Insulator L6200 - o
T 5/8" Standard Oval Fye Nut 6502 i
U Primary Nead End Clamp ; LPO50 o
W 5/8" x 18" (or length req d) Double Arming Bolt i el
w/b 3q. nuts 8868 ! bos
X guying detall - see dwg No, £5-10 for specs. o
Y Hot Line Clamp S/520A6FP .
Z Squeeze on basket, size required KEARNEY X .. e

i -
i s
. DAYE:!
/2-27-r/ TInLE
Trr— DESCHAL/PTION AATERLAIL SN
E.WINTER
. : CHECKED BYs PRODUCTION DEPT, HO8ES DIV
- JoBs [ETN DRAWING NO.! -,
APPROVED BY! : . I
LEC. SP 3 R —f
— £16¢ srecs £S-Y
MNOANE i SHEET ¢ OF .
[

. ERREL TUir e L OB Gt o o e s st b




